Math 100 Quiz #2 Name:

1. Give an example of the identity property of addition. / i O = X

(X con be Cmij ﬂum\}er)

2. Give an example of the identity property of multiplication.

|=x (X conbe @;zj fumbey)
3. Ifx =3 + 5 what is the absolute value of x?
x=2+v5=% |x|=18|=%

4. If x =3 - 5 what is the absolute value of x?

X=3-5=-2 [x|=|2|=
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6. Compute: 2345 6,789 = )
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7. Compute; (-123) + (-456) = u
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8. Multiply: (-273) x 419 = "273
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10. Divide; give the answer as a whole(;wmber and remainder: 1 ,098 + 65 =
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11. Check your answer fo questlon #’?0 “Multiply the quotient by the divisor and add the
remainder. The result should match the dnndend St
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12. Divide, giving the answer as a decimal: (-36.81) (0.9) =

4073

09363,

~H0.91



